A

WAGNER

HERO 23

HEROZ23 motor

2024.02

i A T ERKEE T DHERDHVET,

1Ak -



HERO 23 A
WAGNER

POS 2 Ea Y TEAM ik
1 2411455 |EIFAA VT 1 21,800

2 2393002 |ZvE L HAE AL 2 160[4.2x45

3 2393003 |ZvE L HAE/ AL 2 160[4.2x25

4 2388381 |ZvE L HAE/ AL 1 160[4.2x22

5 2388377 | v— 5 750

6 2369533 | B/ — 1 2,000

7 2304608 (2422779 ~EFH L —V 7 Ia—K (1) 290

8 2393240 |z F o H— 100 u F400V (1) 2,900

9 2393018 |ALF/hEHRL (4) 160|M4x18

10 | 2393035 |Z—3F /LR 7 A Assy 1 4,500[Pos.7-9 & e
11 2369517 |E—X—H A7k 1 290

12 | 2369436 |¥ 7L apsi— 1 1,900

13 2383995 |HEA T~ T /15t 1 11,600

14 | 2369454 | AAOFa2—7 1 1,400

15 2388291 | NFp 7 1 5,100

16 | 2369455 |[ZUy~7 1 240

17 | 2393043 |[WAFfEYH 1 12,600[Pos.8 ™ 2 7 & e
18 | 2369458 |[FTAF v ITU vy — (2) 160

19 | 2393044 [AA/NFyryFATY2— Assy 1 1,100

20 | 2369586 |UH—LIR—AT 4T AT 1 990

21 2393047 |[VU—7 /L7 )7 ASSY 1 1,800

22 2369631 |V)—7/3L7 1 9,700|Pos.23 & i
23 | 9971395 [0V 1 970[10 X 1.25
24 | 2393275 [[Hero23] EF/LT~L 1 290

25 | 2393049 [2—U 7N T layX T ASY) 20— 1 450

26 | 2393102 |HEHFEATTT BN 1 2,900

27 2393105 |O U Zes =Yo7y (1) 290

28 | 2393106 [HEHFfpY—E R 1 16,500|Pos.27 & e
29 2388374 |[a—KRrT77 (1) 710

30 | 2393241 [&EFEIr—7 L (1) 8,400

31 2399031 |&EJR7—7 )L Assy 1 8,900[P0s.29,30 & e
32 | 2231000 |OA T7HFH— 1 2,700

2

Ak - i - MR T ERKERT2ENHYET,

HEROZ23 motor

2024.02



HERO 23 WAE“ER

£ &R

HERO23 yuatsu

AR - % - S T ERKAEET2HN/HVET, 2024.02



A
HERO 23 WAGNER

POS S A S TEAM ik
1 2393275 |[Hero23] EF /LT~ L (1) 290

2 2393126 |[/SA 7SR LR (8) 160

3 | 2369493 |[2—VUr (1) 990

4 | 2393127 |[7mrhH 3— Assy 1 2,400|Pos.1-3 & te
5 | 2388471 [WJE N7 1 10,500

6 | 2393044 |[AANFrv AT 2— Assy 1 1,100

7 | 9971365 |0V 1 380[9.25 X 1.78

8 2369477 |J[EJJFH#EFR Assy 1 9,200

9 | 2393130 |[Ahy T T T Assy 1 710

10 | 2393131 |[JE/)FRHE /7 Assy 1 1,900

11 | 2393132 |v—Uo T A7) a—Li—)L 1 710

12 | 2391115 |0V 1 200

13 | 2393133 [/NA ARV E 4 290

14 | 9998144 |2 F> 7V (1) 530[15 X 1

15 | 9960113 |R—/L_XTVU (1) 9,200(6302

16 | 9922506 |(AF w7V (1) 46025 X 1.2

17 | 9960431 [m—F_X7Y (1) 34,500|NUTR25

18 | 9922518 (R F w7V (1) 340[35 X 1.5

19 | 9960151 |[R—A_XT7Y 7 (1) 4,000(6207

20 | 2369378 |fm.O> v 7 b (1) 5,600

21 | 9970532 |A AL —L (1) 2,900[40 X 70 X 10
22 | 2369380 |ffLr 7 Assy 1 25,000(Pos.14-21 & e
23 | 3056464 |AF IV 1 2,300|75 X 2.5

24 | 2369384 |77 xvhXylY— 1 840

25 | 2393134 |7 Iy Xy Y —H—EZAF K 1 4,100

HERO23 yuatsu

4
AR « i - MRS T ERKEET2HR/HVET, 2024.02



HERO 23 WAE“ER

o TER

27

28
)

29 ‘

s .

HERO23 pump

5
AR « i - MRS T ERKEET2HR/HVET, 2024.02



HERO 23 A
WAGNER

POS T 4 P TEAT ik
1 2369454 WAL F2—7 1 1,400

2 2388291 | AFR NN 1 5,100

3 2369455 |Z7Uv7 1 240

4 2393043 |WAFE b 1 12,600|Pos.5 & i

5 2369458 |[FTAF T p— (2) 160

6 2383995 |HEA Fv 7 HE 15t 1 11,600

7 2369436 |¥ 7 axs B — 1 1,900

8 2369586 |VZ—LR—AT (T (L 1 990

9 2393047 [VU—7 L7 )7 ASSY 1 1,800

10 | 2369631 |VY)—7,317 1 9,700[Pos.11 &re
11 9971395 |0 U 1 970[10 X 1.25

12 | 2393049 |[>—V VT luayd T AT 2— 1 450

13 2393102 |rEHFNYY T Y 1 2,900

14 2393105 |0 V7l =N TV (1) 290

15 | 2393106 |H:-HFpH—E2EYH 1 16,500[Pos. 14 &e
16 | 9900217 |/ANMHAR/NLL 1 620[M12 X 60

17 | 9920134 |Uviv— Al2 1 130

18 | 2369435 |~ALh_N—2R 1 14,000

19 | 2393137 |[~Avh_X—2HP—EZF vk (1) 14,700[Pos.16-18 & e
20 | 2369432 |A P —Fh (1) 710

21 2369431 |X AT 7T A (1) 8,000

22 2393138 | AT 7T LV - A —IMt 1 8,400|Pos.21,22 &tp
23 2369422 |7y e—AL P —h (1) 7,100

24 | 2337112 [0V (1) 320[37.8 X 1.78
25 2337113 |0V (1) 230[34.7 X 1.78
26 | 2393139 |[FL v r—AL P —RM—E A% YR 1 7,400|Pos.23-25 & e
27 | 2369425 |[FL vy —ATFYL s 1 450

28 3061423 |T4AZ 1 660

29 | 2369424 |[E°ARL 1 3,700

30 | 2337078 |@EEVS 1 100

6

Ak - i - MR T ERKERT2ENHYET,

HERO23 pump

2024.02



HERO 23

A
WAGNER

=SEZ/IILE—tYs (T3Y)

11\

10 ==

]

i
A\

A

\y

IC10026A
POS S fndh Y TEAM 5
97123 74V A —F vk 1 51,400
2 97301 TANHA—T 1 8,200
3 97302 TAIE—INT L 1 8,400
4 97303 HHZ2 7R )L 1 5,400
5 97304 =T 1 1,400
6 9970110 [>—Vv 7 1 290
7 9974027 |OVUr 7 30 X 2 1 320|PTFE
8 9971401 |O Vv 1 2,800{16 X 2 H
9 757-105 |7 ATVT 1 1,600
10 702-251 |[AFVTHAR 1 770
11 730-067 |7 A/LH— 1 3,700[60 A =
0508450 |7 A4/LH— 3,700{100 Ay =
730-067-30 |74/ H— 3,700[30 A =
12 9994245 |7l —RATV T 1 9,900
LC10026A

Ak - i - MR T ERKERT2ENHYET,

7

2024.02



HERO 23

A
WAGNER

~Ot)—ER

HEROZ23 trolley

POS e Ea & TEAN ik
1 2369570 |3R5]/3— 1 7,300
2 13806 |[AU—7 2 1,900
3 2396299 |22~k 2 160
4 2343481 ey LR —E vk 1 16,600
55553 |74k —arFF— (1) 3,400
252264 |2 T F 52T (1) 6,900
5 2369550 |Fa—FEH7L—2A 1 27,700
6 2369578 |Z L /8— 1 370
7 9920304 |7 4A7 B 6.4 1 110
8 9900325 [/~ ARV 1 190|M6 X 16
9 2393118 ¥ /3i—+t vk (1) 510|Pos.6-8 & e
10 | 9900118 |[/NHAR/NLL 4 230|M8 X 30
11 | 2369545 |H 7L —Fh 1 1,400
12 ] 9920102 |FEU v v— 8 180|M8
13 | 9910208 |2y 27F vk 4 230
14 | 2393119 [HFEZL—h Assy 1) 3,700[Pos.10-13 & e
15 | 2369556 |[A&A—/L 2 2,000
16 | 9994950 |2 7%y~ 2 690
17 | 2393121 |ARA— L5842 (1) 2,400|Pos.15-16 & i
18 | 2388543 | 2 190

1k -

i A T ERKEE T DHERDHVET,

8

HERO23 trolley

2024.02



HERO 23 WAENER

Yoo tyk

3
[D10000A-2

POS hh i ih 4 T TEAN 5

1 2230341 | AR—AE vk 1 19,400| ¢ 25 X 800 BRI L2

2 2230343 |UH—1R—RAEvh 1 10,300 ¢ 12 X 800 B L &>

3 2230342 |TAIT4NEZ—E vk 1 7,800{ ¢ 100

4 34602 | A=vT L (1) 1,800

5 253426 |=ALF vk (1) 1,800

6 2240083 |AR—A/ SR -35 2) 660[25 ~ 35

7 2240343 |H—RRAFV 7 (1) 2,800

8 2240078 | ATV T HR—A 1) 15,500{ ¢ 25 X 800 %5 HH

9 2240344 | A SAT (1) 8,100

10 2241111 |UF—rFh—AH=v 7L (1) 940

11 2240018 |UF—rA—AH AT vk (1) 2,700

12 2240022  |HR—AUR 220 2) 780[13 ~ 22

13 2240071 |AFV T R—RA (1) 6,100| ¢ 12 X 800 FBHH7L Z

14 2240349 |UH—1 AT (1) 3,100

15 2240345 | TANVERT 4 TS (1) 9,800/ ¢ 100
16-1 2240346 |7 4/NH— (1) 2,800/0.8 mm ¢ 100
16-2 2240355 |7 A4/NH— (1) 2,900/0.4 mm ¢ 100

17 2240347 (AU TV (1) 2,100

LD10001A-1
9

AR « i - MRS T ERKEET2HR/HVET, 2024.02



HERO 23

A
WAGNER

5L 7ky/Ss—tybk (ATL3ay)

1
\
@2
3
—
5
/ ID10012A
POS i A T TEAH 5
341265 |5L Av/S—E vk 40,300
1 340901 |y /—h/3— 1 11,800
2 9902313 [#vE Ll 2) 110
9920314 |V v — 2) 100
3 37607 |[74/%— 1) 6,000/0.8mm
3756 |74/ H— 5,300[0.4mm
4 340904 |/ R—RT A 31,500
5 340908 |VZ—>F a2—7 11,000
.LD10012B
10
oAk - 3 - I T ERLKEETHIERHVET, 2024.02



